2N EREAD
Hu: YR SAE 259 AN (SUHSLM/5Y - 58)
B9 508 48 843 msl (=CR-T))

=S40 10,065,240 9,382,061 683, 179
= 140,000 140,000 0

X 1,800,000 1,800,000 0

= 8,125,240 7,442,061 683, 179

U SAE $E9Y YH(SEHYLN/5Y - 58) 3,433,000 2,733,000 700,000
= 140,000 140,000 0

= 3,293,000 2,593,000 700,000

SME 48 243 NV 3,433,000 2,733,000 700,000
=2 140,000 140,000 0

= 3,293,000 2,503,000 700,000

SEANFCHRS 3,153,000{ . 2,453,000 700,000
308 XHXIEFRIS Ol & 1,044,000 644,000 400,000

01 AXIEHZARES 1,044,000 644,000 400,000
OsSHE +E2TH XY 800,000 400,000 400,000

402 812t XH=0I & 850,000 550,000 300,000

01 BIHAEAMLRE(RATE) 850,000 550,000 300,000
OsAE +8 NES X4 XY 500,000 200,000 300,000
USSR (SISHT)OIE/IIEH) 80,020 9,841 £16,821
R ERT 20,313 37,134 A16,821
ZHOIX 228 29 20,313 37,134 16,821

101 2124 bl 20,313 37,134 16,821
ESIPEESTERS 20,313 37,134 16,821
oJ1=S(1058) 2,133 12,796 £10,663
NEEEES- 584 4,003 £3,419
OUXRBRIS L 712 1,335 £623

OE S IHHI , 1,048 2,114 ~1,066

oz 910 1,560 A650

DEH| 560 960 £400
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